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1. A human cheek cell and a spongy mesophyll cell from a leaf are examined under

a microscope.

Which structures are seen in both cells?

5; cell membrane, nucleus and cytoplasm

B. cell wall, cell membrane and nucleus

C. cytoplasm, cell wall and cell membrane

D. nucleus, cytoplasm and cell wall

2. The mass of a cube of fresh potato is found. It is then placed in a test-tube containing

a dilute solution of sucrose. After an hour, its mass has increased.

Which process has occurred and what has happened to the concentration of the sucrose

in the solution in the test-tube?

_process sucrose concentration
A active transport decreased
B active transport increased
f@) 0Smosis decreased
9] 0sSmosis increased
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3. The diagram shows an experiment on amylase.

Each beaker contains water 3t the temperature shown.
10°C

Aﬂerﬁvemiutes,udﬂesﬂdxofambukmediﬁodwtﬁ-nﬁedﬂzdi
solution in the same beaker.

mmwmwsm,mdmmenmmm
solution and are then tested again at S minute intervals.

Which results are expected?

90°C BT R wc |

[ A blue-biack after ;goesyem-hom;:goecm? biue-black after

30 minutes | immediately @ 3flerSminges 30 minutes

* !

B biue-black afler | goes yelow-brown | goes yelow-Drown blue-biack 2fter

30 minules ; afier S mines | immediately 30 mirutes

c WWQWWEQMMM blue-biack after

mmediztely j afler Sminutes | afier 5 minutes 30 minutes

D | goes yelow-brown | blue-black afier | biueblack afler | goes yelow-brown
afierSminges | 30mindes | 30 minutes after 5 minutes |
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4. The diagram shows a bolus of food moving along the oasophagus,

polus of food

e s A direction of
YRR m‘ﬁ‘ AN
re—— L

Which row describes the conditions of the muscles at p, QR and 57

P Q K 8
A | contracted relaxed contracted relaxed
_ | Bt contracted relaxed relaxed contracted
2 / c /’ relaxed contracted | contracted relaxed
"'I")/ relaxed contracted relaxed contracted

5. What causes water to enter plant roots from the soil?
A. Water potential in root hairs and the soil is equal.
B. Water potential in root hairs and xylem is equal.
_Water potential in root hairs is higher than in the soil.

D. Water potential in root hairs is lower than in the soil.
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6. The diagram shows one type of plant cell.

What type of cell is it?

A. epiderma

| cell of a leaf

( (‘;ﬁesophyll cell of a leaf

C. root hair cell

D.xylem cell

7. A lack of which nutrient causes gums to bleed?

A. calcium

B.

iron

@tamin C

D. vitamin D

8. Which chemical elements are found in Carbohydrates,

Proteins and Fats?

drates fats prbteins
o carbohy
A carbon, hydrogen carbon, hydrogen carbon, hydrogen,
J and oxygen and oxygen oxygen and nit;ogen
B carbon, hydrogen carbon, hydrogen, carbon, hydrogen
and oxygen oxygen and nitrogen and oxygen
c carbon, hydrogen, carbon, hydrogen carbon, hydrogen
oxygen and nitrogen and oxygen and oxygen
D carbon, hydrogen, carbon, hydrogen carbon, hydrogen,
oxygen and nitrogen and oxygen oxygen and nitrogen
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B 1he tahle shaws same af the nurente mmm in faur fands

calcium/m vnammC/mo wiamin O/ ug

Ll 100 g af tad Rm 1 ; G P fﬂﬂd food
| hananas 04 7 10 ]
4 fah 04 36 0 -~ 638
4 laniila /8 10 0 0
4 il o 06 0002

Which twa fands are hest to help the healthy growth of bones and teeth of a child?
A Vand 2

B land3
€, 2and3
D, 2andA

10, Which processes are responsible for the uptake of ions from the soil by a plant and the
uptake of glucose into the villl of a human?

uplake of lons uptake of glucose
into root hairs into the villi
A |, aclive transport 08mosis
B ) active transport active transport
(*A < diffusion o8Mosis
D 08Mosis active transport
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deoesthemmmiaofthecel marked 2 differ from the water potentials of
the cellk marked 1 and 3?

A. higher than cell 1 and celt 3

8. higher than cell 1 and lower than cell 3
a
- €/ lower than cell 1 and higher than cell 3

&
>y

D buetti\mcel_l‘mdbwertlmcela

12. According to the lock and key hypothesis, which is the lock and which is the key for

the enzyme pase?
key lock
A fatty acids lipids
B ipase lipids
c,\ lipase fatty acds
v 2\ :
D |, lpds lpase
N

13. Which process can involve active tramsport?
A. carbon dioxide intake through stomata
f\ ;
B jon intake through root hairs
mineral ion transport through xylem vessels
D. water leaving mesophyll cells

&’@M“Iﬁ“%!ﬂﬂ“ﬁ“l{ﬂlﬁs sy
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18A » tries eating a diet consisting only of lettuce leaves and water. Which condition
might develop?
A. constipation
B. heart disease
N
C. /rnickets
N 3

D. scurvy

15. Which bar chart represents the amount of starch digested in the mouth, stomach
and ileum of a human?

A B
'y lr
amount of o amount of
digestion digestion
{ arbitrary units ; - {arbitrary units
- L .— e PE o o L
mouth stomach ileum mouth stomach ileum
c D
; 4 1
amount of amount of
digestion : digestion
{ arbitrary units : —] { arbitrary units ]
;‘"""" i " : o |1 e | r‘_l-u_
mouth stomach ileum mouth stomach ileum
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16. The diagram shows a plant cell.

Which labelled stru
Cture controls the Passage of substances into and out of the cell?

17. The diagram represents apparatus used to investigate osmosis.

Which molecules will move across the partially permeable membrane and which change
will occur in the solution level?

molecules Sd‘;v’t:"
A starch fal
B starch rise
c water fal
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18. The smail intestine of 3 gersam cantains 3 lQwen CINCRTMINEM I PuLTse Than &
present in the bicod:

The.cells of the villi absorty glucasa: By witichh grocess (& The Jucrse Atsorhed®

A.’ by active transport 3gainst the concentranam gnadiem
\\/B by active transport with the concentratem gratient

C. by diffusion against the concentratiom gradient

D. by diffusion with the concentratien gradient

19. Which statements are correct for ail emzymes™

-1 They are proteins.
-2 They are secreted into the alimentary canail
-3 They speed up biochemical reachieons.
~4 None of them werk at low gk
A land3
B. 1and4
SN
/C)2and3
D. 2Zand 4

20.The diagram shows 2 root hair, surmoundied iy 2 dillhe soilddam af TP oM.




21.What are the substrate and end-products of digestion by the enzyme lipase?

A carbohydrate d@@o -
,'.() o anin acide
\ ¢ 1 tat fatty acki and giyoerol
D __powin | Wityscdsandgiycerol

22.Which processes can take place in a root hair cell when oxygen is not avallable?
A. active transport only
\a"{)iﬂusion only
C. active transport and osmosis only

D. diffusion and osmosis only

23.The diagram represents a cell as seen under the electron microscope.

What type of cell is this?

type of cel reason

O\/ animal cell | outer layer is the cell membrane
B
c
D

bacterium no chromosomes are visible

plant cell cytoplasm is visible
plant cell cell wall is visble

Rgellof




34 Which symptom is caused by a deficiency of vitamin D?
A anaemia
(!\ lg_alm breaking easily
o8 ‘mnstipmon

D. gums bleeding

2%. Protease breaks down proteins into amino acids,

1n the "lock and key’ hypothesis, what is the lock and what Is the key?

[y amino ackl protease
1 protease amino acid
@; protoaso protein
D protein proleaso

26.The diagram represents stages in the breakdown of starch to maltose by the enzyme
amylase.

S5

Which are the correct labels?

S WV

g amylase mdmﬁ starch
A P s Q
B Q R 8
c R Q B
D s P R
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vitamin C, calcium and won?
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29. The element nitrogen is needed to form

A. fat.

@ protein.

C. starch.

D. sugar.

30. Which process involves the use of nutrients inside cells?

A. absorption

@ssimilation

C. digestion

D. ingestion
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